Get out your homework and have it ready to check. Get your book
out and start Warming Up on p. 561 #1 and #1 - 4. Test Friday!

Classwork - Slope and Similar Triangles

£) The shadow of a 20 feet tall house is 36 feet long. Ryvan, who is standing next to the house, is 5 feet tall. How

long is his shadow? SHOW WORK AND LABEL
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9)A man 35 feettall casts a shadovw that is 10 feet long. A building right next to him casts a shadow that is 140
feet long. What is the haght of the building? SHOW WORK AND LABEL
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100 A child's desk is made so that it is a replica of a full-size adult desk.
The full size desk is 54 inches long by 36 inches wide. [fthe child's desk
is 24 inches wide and similar to the full-size desk, what is the length?
Wnite a proportion and solve to find each of the missing side lengths.
SHOW WORE AND LABEL
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12) Monique made a scale model of the Eiffel Tower that has a base with the length of 50 millimeters and a

height of 144 millimeters. What is the height of the real Eiffe Tower

if it has a base with the length of 125 meters?
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12) Monique made a scale model of the Eiffel Tover that has a base with the length of 30 millimeters and a
height of 144 millimeters. What is the height of the real Eiffel Tower
if it has a base with the length of 125 meters?
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For the § i rohle draw a picture to rewent the smilar figonres given. Then write a
proportion and solve that proportion to find the mosing side length.

13) Deamrick made a day model of the desk in his room. The dimensions of the model he made had a length of 8
inches and a width of 5 inches. His actual desk has a length of 48 inches. Determine the width of the actual
desk. SHOW WOREK AND LABEL
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14) Mica is drawing scale picture of her living rectangular room. Her living room has a leagth of 20 feet and 2
width of 12 feet. [f the length of her living room in her drawing is 15 inches, how long should the width of her
room be in the drawing? SHOW WORE AND LABEL
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Physice In an experiment using a colled
spring toy, Zoe and Jack determined they
needed to ralse one side of a 5-foot board
3 feet for the oy 1o move,

1. Find the slope of the board. (Hint: Use the Pythagorean Theorem a, - \.l ,]} _1.__
to find how far the end of the board is from the booksd 3/ I\

; Work with a partner. Use
: r'—_’ll —. the graph to discover how

e Slope triangles are related.

1. Draw the triangle formed by A(D, 2),
B0, 4), and C(3, 4). What kind of

l.riaEIe did you draw?
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2. Draw the triangle formed by D(6, B),
AB, 8), and G{9, B). How s ADFG

ted to LABC?
m T Congrink-

3. Draw the triangle formed by A{0,2), K{0, &),

and Di6, 6). How is AAKD related to AABCT

L 1 7 8x
4. What is true about the hypotenuses of the o 2 3 S b 3
three triangles in Steps 1, 2, and 37




Similar Triangles and the Coordinate Plane

In the figure shown, AABC and ABDE are slope
triangles. Slope trlangles are simillar,

LBAC = £DBE
LJACE = LBED Gl
DHABC -~ ABDE Angle-Angle Similart

You can use the properties of similar triangles to show the ratios of the
rise to the run for each right triangle are equal.

Example
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1. writea proportion comparing the rise to the run for each
of the similar slope triangles shown above. Then find the
numeric value.

AC _ BC

ﬁ = E Cormespanding slde< of similar rlanglés &ré proportional

g

AC = DE= BFE = BC Find the ¢nass products.
AC+-DE _ BE-BC

BC-DE ~ BC+DE
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- Got i¥7 Do this problem to find out.

a. Graph AMNO with vertices M(3, 1),
N(1, 0), and O3, 0), and APQR with
vertices P(5, 2), Q(—1, —1), and
R(5, —1). Then write a proportion
comparing the rise to the run for
each of the similar slope triangles
and find the numeric value.




Similar Triangles and Slope

Words The ratio of the rise to the run of two slope triangles formed
by a line is equal to the slope of the line.

Example . l Larger Triangle
. 8) - nse 6
: _ | 1 tun — —g3- Of —2
3 | Smaller Triangle
i | rse _ 2
; | { Tun — _—1, or—2
"I .2A%E 1 _n
] (5, 0) slope ===, or -2
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The ratios of the rise to the run of the two similar slope triangles in
Example 1 are the same as the slope of the line. Since the ratios are
equal, the slope m of a line is the same between any two distinct
points on a non-vertical line in the coordinate plane.



4@'}" Example

2. The pitch of a roof refers to the
slope of the roof line. Choose
two points on the roof and find
the pitch of the roof shown.
Then verify that the pltch Is the
same by choosing a different

s

m= Uise the polnts 5 and R (x,, .} = (8, &) and (x,. y.) = (12, 8)

Forrniuka Tor slops

m=— Simp rf:,-

The pitch of the roof Is % Verify that the pitch Is the same using

two other points.
Yz=¥
m= ﬁ Foimula for slope
_2_3 - . [T . r ._-2] i . _UE
m= _':l 2 Use the polnts Uand 1. (¢, ) = (£, 3) and ix,, ¥.} = (U, £}

1
m= - E Simplify. The pitch s the same
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i+7 Do this problem to find out. by

The plans for a teeter-totter
are shown at the right. Using
points G and L, find the slope
of the teeter-totter. Then verify
that the slope is the same at

a different location by choosing
a different set of points.
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Guided|Practice

1. Graph AACG with vertices A(1, 4), 13, —2), 4. The plans for a set of stairs are shown
and G(1, —2), and ABCF with vertices B(2,1), | below. Using points X and Z, find the slope
C(3, =2), and A2, — 2). Then write a proportion of the line down the stairs. Then verify that
comparing the rise to the run for each of the the slope is the same at a different location
similar slope trlangles and find the numeric by choosing a different set of points.
value, |Example 1) |Examplie 2)
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